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a—Kk g Fik | BER (kg) &4 (M) s | P il E M (D)
31100 BA¥ 15 32 32 32 321 BH 1=
32600 |&EH 2 130 11 11 11| BW 123K
31700 | ¥ ¥y 140 1,642 216 108 54 | BM 1447 — 2
31800 1EFHNAK 3 140 11 1 11BN 134
31800 [1Z DA 42 4, 482 27 22 16| BN 2083
31900 R¥ 3 162 54 54 54| B 3kg
734400 R R 8 2, 592 324 324 324 BN 8kg
35220 | X M ERHT. 24 23,642 15,512 3, 889 1,944 | B 44l
35220 | EF R XRHBIE 2,225 432 378 324 | B bkg
136303 [ RAFuTEZALD 432 216 216 216 | B ' 2kg
35303 AF v TEIALD 88 63,134 22,932 3, 099 3,099 | &M 510
Y3115 |EXAED 3 648 216 216 216 | BN 3kg
Y3115 \FEZAE S 80 22, 394 8,975 8,975 5, 566 | BP9 31
35400 | FHE®H 2 470 270 270 216 | BN 2kg
Y3033 | ZEANAL 100 6,912 108 43 43| B 100kg
36200 HEnE 30 2, 268 76 76 76| B 30kg
36600 |7mFRE 3,078 97 97 49 | BN 4018
33400 | L& R 140 16 16 12| BH 1048
33410 H=—L X 1, 253 43 43 115" 448
33300 | T my 3l — 17 1, 446 43 27 12| BH 56{#
Y3030 &{EA (3) 2 2, 592 1, 296 1, 296 1,296 | B 2kg
36340 B LN REE 40 4, 460 119 108 108 | &N 40kg
41320 | J\¥A 40 680 54 43 IRE=1% 12048
41390 HEAD A 44 6, 232 432 216 216 | B 22% v k
41806 (T A A 30 4, 050 270 270 270 | B 153y b
46108 | DI DD 64 67, 295 378 324 270 | B 214,87
71011 2/ L —% 47, 952 70 65 59 | B 7604
71060 (A kv 2 6, 232 38 32 22 | B 1904
71150  LiT 648 65 65 65 | BN 105
53452 ANIE 405 162 162 162 | BN 3kg
Y5010 —obsE (F) 3, 267 594 594 594 | BN 6kg
30100 72WZ A B 40 648 324 108 108 | V2B 45—
30300 A% L 80 8,316/ 1,080 1,080 972 | A 84— =
31100 H3E 275 3,737 324 108 108 | FEL & 217 — A
31200 LI 130 3 3 SRR 404K
37440 A biL 896 896 896 896 |FE VLB 17— 2
32600 &% 216 11 11 11 |%& 2048
31700 F 4 200 2,214 216 108 54 |EIRE 20— A
31800 1F D NLAEL 8 432 11 11 11 BERE 404
31950 MR 24 3,996 648 540 216 | FEIR 8r—A
31900 & 10 1, 404 216 54 54 | BB 203 (5008)




dh KR BRE A BH
a— K g Fitk | PER (kg) %8 () =il il el P H (BAL)
32800 15 4 1,944 65 65 32| B R 4031
34300 |7oF L 15 10, 368 3, 456 3, 456 3, 456 | REA 3 —=
34400 | kb= k 1,555 65 65 65 | fEAS 24,35 7
34460 (I =L F & M 3, 370 140 140 140 | IR & 24,8
34460 I =L FE L& S 2, 160 1,080 1,080 1,080 |fEA 24— R
34100 | #K 30 7,074 1,296 1,188 918 | IR 64— &
34100 ' HIK 23 5, 465 119 119 119 BERE 46807
34571 XU B (R) 1 983 140 140 140 | &[] 718
34572 AT U A () 1 1,058 151 151 151 |8 E T{E
36600 JoEhE LK 80 17, 280 4,320 4, 320 4,320 | b#EE A —2
37200 L Xk 52 2L 8 2,808 1,404 1,404 1,404 H[EH 24—
33400 L H¥ % 17 454 11 11 11 | Elg 428
33410 H=—L X L 3 81 5 5 5\ BRE 154
32900 B Y — 2 378 216 216 162 | f& 2K
33600 %t Y 1 216 43 43 43 | 548
38100 |4 LW\ 10 5,184 65 43 43 | IR 10023y 2
38100 |4 LU /=i C 11 4,309 432 432 324 |'ET IR 117 —2
31310 | AT 8 864 32 32 11 (&M 4048
L 31310 |\ AR 4 216 11 11 11| BIRE 204%
31500 |/MAZE 16 2, 484 59 22 22| BRE  80f8
32500 |AOIE 1 540 54 54 54 | 1@ E 103
37560 BRI 1 1,166 162 162 119 | K%y 8RRy
41806 | 1= A i A 4L 20 9, 504 2,376 2,376 2,376 | BB 4 —2R
41410 LEL 15 10,260 | 10,260 10,260 10,260 7 AU H 14 —=
Y4005 (ALY 15 2,700 2,700 2,700  2,700| 7 AUH 1H—2R
Y4053 AA —hA LY M 100 1,858 324 324 108 | FEA 1047 — 2
Y4017 [ mU 50 8, 100 1,944 1, 404 1,404 | E5F 54—
46108 | S MIEDOMHE N 4 1,123 86 86 86 | E IR B 133 7
49100 | /3F 120 18, 468 2, 160 1,836 1,512|7 4 U Y 10 —2
EX 2,045 424, 994
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